FOrReVER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR
THE WOODEN DOME PERGOLA




"JU3s supd Y3 Uo PaYIDW SISqUINU 3Y3 03 YIIDW J0U Op 3say | “Ajuo adualafal 4of 3.p 3[GD] SoxXOg JO JUIIUO) Y3 Ul SI2qUINU 1UDd 930N

auRILUNH PUIM 8[8D pJepuels
‘paJapJo §|
6 m "saseq SI0UoUY auedLINH 9
10 puIpn 31D ‘prepuels
8 = sj009 9
o e "Aren
L IS lm Anuend)
SiaLe "Aren
9 Hed M Anuend
G O aweld puodas T
v g saorlg sauM [A)
Buyo0|g usamiag-u| ‘Aen
& yum suoddns M Anuend
‘Alen
¢ < suoddns 2ibuts [m Anuend
1 | S1s0d 9
‘'ON Buimeaqg uondiiosag ‘RO

S3X04d 40 LN3JLNOD

Pl 1

THE WOODEN DOME PERGOLA

www.ForeverRedwood.com



‘921 Uo bulpuadap Aipa [jim a1ompapy JnoA Jo suoisuawiq ;230N

(syogayroy)
SINN .8/

"(s)10q pue syjoq Bej ayy 01)
SIBYSeMA

(3s0d 8Uyp 01 51000
8U1 Yyoene 0 / SIaiyel 8y} 01 SIe|s 8y} Ydene 01 )
SM3I2S 98Q | £

: —‘\\\‘.‘.\\\\\‘.‘.\\\\‘.‘.\\\\\‘.‘.\‘\\11'
o

"(Bwely pUO23S Y1 01 SJayyed 8yl yoene o)
"J8yse A\ Yim yoene ‘syjog e | 9 X | 9T/g

_— | ALIIL IS SIS LIS IS IISIIIIIIIISIIISI LI II IS L IINY

‘(suoddns ay1 01 sJayyel 3yl yoene o])
"SIBYSEA Yum yoene ‘sjjog be | 8 X ,.8/¢

‘(s1s0d ayy 01 sade.Iqg 93U AU YyIene 0] ) 'SINN
pue SI8YSeAA YU yaele ‘sjjog | 9T X ,.8/€

HEENEL)
Buyoo|g usamiag-ul yum suoddns ayy yoene o
/ Jay1ebol suoddns ajbuis ayr yoene o1) SINN
pue SIBYSBAA YIM Ydele ‘s)jog | % L X |, 8/€

[T

"(saorIq 93Uy Ayl
pue sisod ayy 01 suioddns ayy yoene o) 'SINN
pue SIBYSBAA UIM Ydele ‘s)jog % 8 X . 8/

=y

‘(3s0d ay) 0} seseq Joyoue ayl yoene o)
syog Be1 ..e X ,.9T/5

‘(punoub sy 01 saseq J0YdUR 3yl yoene 0])
slog Joyouy | 7 X %

‘ON

Buimeaqg

uondiiosag

1S1T1 IdvVMAdVH

P| 2

THE WOODEN DOME PERGOLA

www.ForeverRedwood.com



"JU3s s3dod ay1 uo payiow siaquinu o @\7 ;
ay31 03 Y21bW J0U Op 3saYy | ‘AJuo U313 a. ! 1| n -
Jof 240 BUIMDIQ ay3 Ul SIaquinu 1404 :330N 6 G\._?

P|3

6

saseg Joyouy

8

sjo0g

L

S¥e|S

9

Sisljey

awel4 puodas

Saorlg 99U

Bunioolg
usamiag-uj yum suoddng

suoddns sj6uls

— N (32] < Lo

1s0d

ON NOILdI¥40s3d

THE WOODEN DOME PERGOLA
rRedwood.com

. www. Forevel



NOTE: In order to know where the post needs to be placed, check the numbers on them. If the post is not marked, then place the
single Supports on the ground to locate the markings for each post position and clearly set your bearings. (“Don't attach yet, only
place them on the ground to begin with”).

Step 1: Install the anchor base (9) with %™ X 4”" anchor bolts (A) or lag bolts. Please see the “How to anchor your pergola
document” for all details. Set your post (1) in the saddle of the anchor bases (9). Drill a g %" hole in the post prior to anchoring
to facilitate the ratcheting of the hardware. After that, use a 5/16" X 3" lag bolts (B) to attach each post (1) to its respective
anchor base (9).

> DIMENSION IN THE DRAWING %y ;

D":qu?HSI'EON DIMENSION DIMENSION
ORAVING IN THE DRAWING IN THE DRAWING
DIMENSION
DIMENSION IN THE DRAWING IN THE
DRAWING
D"::JE.';.'HSI'EON DIMENSION DIMENSION
ARG IN THE DRAWING IN THE DRAWING
DIMENSION IN THE DRAWING——<2 ‘
5/16"" X 3" Lag Bolts
SN
Pl 4

THE WOODEN DOME PERGOLA
www.ForeverRedwood.com



Step 2: Attach the single supports (2) to the posts with 3/8"" X 8 %" bolts (C) (with washers and nuts). The single supports will
be attached together with 3/8 X 7 %" bolts (D) (with washers and nuts). Each part has a series of numbers that indicate where

to attach the part with the corresponding number.

G it

3/8” X 8% Bolts

THE WOODEN DOME PERGOLA
www. ForeverRedwood.com

G

3/8” X 7% Bolts

P| 5



Step 3: Place the supports with in-between blocking (3), into the post notches as shown and attach to the posts with the single
support bolts (C). The supports with in-between blocking (3), will be attached together with 3/8”" X 7 %" bolts (D) (with washers
and nuts). Each part has a series of numbers that indicate where to attach the part with the corresponding number.

3/87 X 7% Bolts

P| 6
THE WOODEN DOME PERGOLA
www. ForeverRedwood.com



Step 4: Attach the single supports (2) to the supports with in-between blocking (3), use 3/8" X 8 %"" bolts (C) (with washers
and nuts). The quantity of bolts depends on the length of the supports.

Step 5: Attach the knee braces (4) to the posts with 3/8 x 16™" bolts (E) (with washers and nuts) and to the supports with 3/8""
x 8 %" bolts (C) (with washers and nuts). Each part has a series of numbers that indicate where to attach the part with the

corresponding number.

THE WOODEN DOME PERGOLA
www. ForeverRedwood.com

€ m e

3/8” X 16" Bolts

3/8” X 8% Bolts

P|7



Step 6: Use 3/8”" x 8" lag bolts (F) (with washers) to attach the rafters (6) to the supports. After that, use 3/8" x 6" lag bolts
(G) (with washers) to attach the rafters (6) to the second frame (5). Each part has a series of numbers that indicate where to attach
the part with the corresponding number.

3/8” X 8" Lag Bolts 3/8” X 6" Lag Bolts

P| 8
THE WOODEN DOME PERGOLA
www. ForeverRedwood.com



Note:
Use a ladder or scaffolding, to facilitate installation of the second frame and rafters.

Ladder or Scaffold

"_‘:3—-\

THE WOODEN DOME PERGOLA
www.ForeverRedwood.com



Step 7: Use 3”" deck screws (H) to attach the slats (7) to the rafters. Each part has a series of numbers that indicate where to
attach the part with the corresponding number.

3" Deck Screws

P| 10
THE WOODEN DOME PERGOLA
www. ForeverRedwood.com



Step 8: Finally, attach the boots (8) to the posts with 8" x 3"" deck screws (H). Each part has a series of numbers that indicate
where to attach the part with the corresponding number.

]

"-‘-"-:-"'-....."""""—__—_t

3" Deck Screws

P| 11
THE WOODEN DOME PERGOLA
www. ForeverRedwood.com



This completes the Pergola assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question,
don't hesitate to call us (866 332 2403) or email us. We are here to support you.

P| 12
. THE WOODEN DOME PERGOLA
www.ForeverRedwood.com



HOW TO REMOVE THE ELECTRICAL WIRING TRIM FROM THE POST?

Step 1: First remove the deck screws to remove the boots of the post.

Don’t add the lag bolt over
the trim piece initially.

P| 13

THE WOODEN DOME PERGOLA
www. ForeverRedwood.com



\ -

> ,ﬁ:_ﬁ_..? I

|

Step 3: The bolt of the post and the brace must be flush with the post.

\l/

Note: The dimensions of the trim are standard, adjust if necessary.

THE WOODEN DOME PERGOLA
www. ForeverRedwood.com

Pl 13



